Saltando en paracaidas
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Aceleracion de la gravedad g = 10 m/sz2

e ;Cuanto se tarda en llegar a la velocidad ...

— del sonido? (340 m/s — 1224 km/h)
* 34 seg

— crucero de un Boeing 7477? (250 m/s - 900 km/h)
* 25 seg

— de un Formula 1? (97 m/s - 350 km/h)
* 9,7 seg

2y en caer 4000m?



CAIDA EN AIRE

fuerza de arrastre
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CAIDA EN AIRE

fuerza de arrastre

Shape Drag
Coefficient

Sphere —— O 0.47

0.42

Cylnder

Short
Cyhnder

Streamlined
Body

Streamlined
Half-body



CAIDA EN AIRE

velocidad terminal




CAIDA EN AIRE

Curva de altura
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Calculo del coeficiente de arrastre D

t51,6m/3 tarda alrededor de 10 seg! 10



Apertura del paracaidas
Aumenta el area (A)
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Apertura del paracaidas

Parachute Deployment Sequence
1 2 3

. Ripcord is pulled in stable position.

. Pilot chute oys, i caught by air stream,
creales :hj?iplml acts as mn:hur to the
falling jumper.

A Dﬁﬁ;f pilai chute pulls sleeve and canopy from >
packtray. il =

. Entire sleeve s (A ension lines begin lo oy
from Iwwpndﬁtiim of i'ie:t‘.:pl;ﬂl. En-ri'r hﬂlilﬁ to 'E::Flﬂltm {Ch.

. Suspension lines exiend completely; closin of sleeve apens
l.i.}ml-lnw canogy Io wilhheaw from s*ee&'e. cmtimpém
o straighten (B

. Canopy pulls down oul of sleeve (A). B

2 ﬁ;nﬂrﬂhﬁ\guﬂllz F;LE:I:;LHM sleeve has cleared. Canopy intlates from inside

. Canopy fully inflates. Sleeve and pilot chute fall down on toep of canogy.
Time elapsed: 2 1/2 - 3 seconds.,
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Apertura: 600 m
3segabl,6 m/s: 155 m

hace 445 m a 5,16 m/s: 86 seg




Paracaidas de emergencia







	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15

